Name __________________________________________________
Block _____________
Date ________________
Score __________________/30 points ___________________%
~ Passive Transport Worksheet ~
Directions: Complete the chart by filling in all of the 15 black spaces.  Use the picture/diagram of osmosis in an animal cell and the arrows of water movement as an aide.

	Type of

Solution
	Conditions
	Cell Solution

is …
	Environment

solution is …
	Water will

move…
	Result to Cell

	_____________

Solution


	Solute concentration in the environment is LOWER than in the cell.


	_________tonic
	_________tonic
	______________ the cell
	Cell will ____________
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	_____________

Solution


	Solute concentration in the environment is EQUAL to than in the cell


	_________tonic
	_________tonic
	______________ the cell
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Cell will ____________

	_____________

Solution


	Solute concentration in the environment is HIGHER than in the cell


	_________tonic
	_________tonic
	______________ the cell
	[image: image4.png]HO

il



Cell will______________
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Passive Transport Worksheet Part 2

Vocabulary.  In the space provided, write the CAPITAL letter of the description that best matches the term or phrase. 

	_________ 16. Passive Transport
	A. Movement of a substance down the concentration gradient. The simplest type of passive transport


	_________ 17. Concentration Gradient
	B. Causes a cell to shrink/shrivel up because of osmosis



	_________ 18. Equilibrium
	C. A type of active transport that moves a substance by a vesicle to the outside of a cell



	_________ 19. Diffusion
	D. Carrier protein used in active transport



	_________ 20. Osmosis
	E. Protein used to transport specific substances across the plasma membrane


	_________ 21. Hypertonic solution
	F. Transport protein through which only ions can pass


	_________ 22. Hypotonic solution
	G. A type of active transport that moves a substance by a vesicle to the inside of a cell


	_________ 23. Isotonic solution
	H. This type of transport does not require energy from the cell


	_________ 24. Ion channel
	I. Concentration of a substance is equal throughout a space



	________ 25. Carrier protein
	J. Difference in the concentration of a substance across a space



	________ 26. Facilitated diffusion
	K. Diffusion of water through a selectively permeable membrane



	________ 27. Active transport
	L. Causes a cell to swell/burst because of osmosis



	________ 28. Na+/K+ ATPase Pump
	M. Passive transport using carrier proteins



	________ 29. Endocytosis
	N. Produces no change in cell volume because of osmosis



	________ 30. Exocytosis
	O. This type of transport is the movement of a substance against the substance’s concentration gradient
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